P-JSC "LATRES"

UAAIOCTPUPOBAHHAS
CNEUNPUKALUA

Y3AOB U AETAAEN ICKAAQTOPA

ILLUSTRATED
SPECIFICATION

units and details of escalator



P-JSC "LATRES"

A. NMPNBOA

A. THE DRIVE

B.HATAXXHOE YCTPOWCTBO IECTHUYHOIO MONOTHA
B. THE DEVICE OF THE TENSION OF THE LADDER CLOTH
C. CTYINEHb N TATOBAA LIETb

C. STEP AND TRACTION CIRCUIT

D. HAMNPABJTAOLWMWE

D. DIRECTING

E. BXOOHASA NNOLWALKA U NNNTbI MEPEKPLITUN

E. THE ENTRANCE PLATFORM AND PLATES OF OVERLAPPINGS
F. MOPYYHEBOE YCTPOMNCTBO

F. THE DEVICE OF THE HAND-RAIL

G. BAIMIOCTPAOA

G. BALUSTRADE

H. BTIOKMPOBOYHBLIE YCTPOWUCTBA

H. BLOCKING DEVICES

I. KOMIMNEKTHI

. COMPLETE SETS

J. MPOYUE Y3Ibl N AETANU

J. OTHER UNITS AND DETAILS

K. KPETMEXXHbIE OETAINU

K. FIXING DETAILS

L. METAJINTOKOHCTPYKLUWNA

L. THE METAL DESIGN

10

12

19

27

28

29

31

33



P-JSC "LATRES"

A. nMPuBOL
A. THE DRIVE

A.01

MoTOp-peAYKTOP

The motor-reducer

A.02

DAEKTPOMATHUT
TOPMO3Q

Electromagnet of a
brake

A.03

OCHOBAHME MPMBOAC

The basis of a drive

A.04

Onopa NpmBOAC

Support of a drive

A.05

MNAQHKO KpeNAEHMS
OOATA PETYAUPOBKM
MPUBOAC

Planck of fastening of
a bolt of adjustment of
a drive

A.06

FAMKa KpenAeHms
MOTOP-PEAYKTOPA

Nut of fastening the
motor-reducer




P-JSC "LATRES"

A.07

3BE3A04KA MPUBOAHOM
uenm

Asterisk of the drive
circuit

A.08

LLanba kpenAeHus
3BE3A04KM

Washer of fastening of
an asterisk

A.09

T

g

Llenb raAaBHOIO
NPUBOAC

Circuit of the main
drive




P-JSC "LATRES"

B.HATAXHOE YCTPOUCTBO JIECTHMYHOI'O MNMOJIOTHA
B. THE DEVICE OF THE TENSION OF THE LADDER CLOTH

Onopa poamka
HATSXKHOTO
YCTPOMCTBAO Be3
B.01 pPEeAbCA
Support of a roller of
the tension device
without a rail

Onopa poamka
HATSXKHOTrO
YCTPOMCTBA C
PEALCOM

B.02
Support of a roller of
the tension device
with a rall

KOHTPLLUMHAO POAMKA
HATSHKHOrO
YCTPOMCTBA

B.03
The countertrunk of a
roller of the tension
device

PeAbC pOAMKCO
HATIHKHOTO
YCTPOMCTBA
B.04 .
Rail of a roller of the
tension device

KpOHLLITENH TArH
HATSKHOIO
YCTPOMCTBA LLEMMU
B.05
Arm of draft of the
tension device of a
circuit




P-JSC "LATRES"

C. CTYNEHb N TAINOBAA LIEMNb
C. STEP AND TRACTION CIRCUIT

CryneHb
Step
Cc.01
OcCb CcTyneHu
Axis of a step
C.02
beryHok ctynenm
Roller of a step
C.03
/’ BKAQAbILLI CTYMEHM
' > - The loose leaf of a
o0 KJ step
BTyAKa 3a0MKOBQOS
C.05 The plug
XOMYT
C.06 Collar
LLINAMHT OCK CTYyNEHMU
Shplint of axes of a
C.07

step




P-JSC "LATRES"

C.08

OTpEe30K TArOBOM LLEMM

Piece of a traction
circuit

C.09

NepexoAHOEe 3BEHO
KpwmBOe

Transitive part curve

C.10

NepexoAHOEe 3BEHO
npsmoe

Transitive part direct




P-JSC "LATRES"

D.01

D. HAMPABJAOLWUE
D. DIRECTING

D.02

HanpaBASOLLLOS
OEeryHKoB LLenu u
CTyneHu paboyero
y4aCTKA

Directing of rollers of
circuit and steps of a
working site

D.03

HanpaBASIOLLLOS
©eryHKoB LLenum
XOAOCTOrO y4acTKa
(Mpamas)

Directing of rollers of
circuits of a single site

HanpaBASOLLLOA
©EeryHKoB CTyrneHem
XOAOCTOrO y4aCTKa

Directing of rollers of
steps of a single site

D.04

KOHTPHAMPABAAOLLLOS
CTYNEHU

Counterdirecting to a
step

D.05

KpOoHLLITEMH
KPEMAEHMSA
HOMPABASIOLLLUX AEBbIM

Arm of fastening
directing left

D.06

KpOoHLLITEMH
KPEMAEHMSA
HAMPABASIOLLMX
MPQOBbIM

Arm of fastening
directing right




P-JSC "LATRES"

D.07

KpOoHLLITEMH
KOHTPHAMPOBASIOLLLEMN
CTyneHu

Arm of a
counterdirecting step

D.08

CoeAUHUTEABHbBIM
YTOAOK
HAMPOBASIOLLMX

Connecting corner
directing




P-JSC "LATRES"

E. BXOOHAA MITOWALKA U NMJINTbl NEPEKPbLITUA
E. THE ENTRANCE PLATFORM AND PLATES OF OVERLAPPINGS

BXxoAHQOS MAOLLLOAKO

Entrance platform
E.O1

lpebeHKa BXOAHOM
MAOLLLOAKM

Comb of an entrance
platform

E.02

KpaiiHuii 3y6
roe6eHkKu NpaBbli
E.03 Extreme tooth of a
comb right

KpanHuim 3y6
roebeHKn AeBbln
E.04 Extreme tooth of a
comb left

MAQHKCO BXOAHOM
MAOLLLOAKM

Planck of an entrance

E.05 platform

MEMXXMMHAS NAQHKO
BXOAHOM MAOLLLOAKM
E.06 Clamping rod of an
entrance platform




P-JSC "LATRES"

E.07

OCHOBOHME BXOAHOM
MAOLLLOAKM AEBOE

The basis of an entrance
platform left

E.08

OCHOBOHME BXOAHOM
MAOLLLOAKM MPABOE

The basis of an
entrance platform
right

E.09

YroAOK OBpaMAEHMS
MAUTbI MEPEKPLITUS

Corner of a frame of a
plate of overlapping

E.10

HanpaeAgtoLLLMM
POAMK BXOAHOM
MAOLLLOAKM

Directing roller of an
entrance platform

E.11

MNAMTA NepEKPbITUS

Plate of overlapping

E.12

MNAMTA NepEeKPbITUS

Plate of overlapping

11



P-JSC "LATRES"

F.01

F. TOPYYHEBOE YCTPOMUCTBO
F. THE DEVICE OF THE HAND-RAIL

HanpaBAgOLLLMM
NPOdOUAb MOPYYHS
MPSMOn

Directing structure of a
hand-ralil

F.02

HanpaBAgOLLLMM
NPOdOUAb NOPY4HS
BEPXHEro
KPUBOAMHEMHOTO
y4aCTKA

Directing structure of a
hand-rail of the top
curvilinear site

F.03

HanpaBAgOLLLMM
MNPOdOUAb MOPYYHS
HWKHErO
KPUBOAMHEMHOTO
y4aCTKA

Directing structure of a
hand-rail of the
bottom curvilinear site

F.04

MNAQHKQ KpenAeHus
HAMNPAOBASIOLLLETO
MPOMOUAT MOPYHHS

Planck of fastening of
a directing structure of
a hand-rail

F.04

MNOAAEPKMBAKOLLLMMN
POAMK MOPYYHS

Supporting roller of a
hand-rail

F.05

OTKAOHSIOLLLOS
ABYXPOAMKOBQS
oarapesd NopyyHs
npaBas

The rejecting two-roller
battery of a hand-ralil
right

12



P-JSC "LATRES"

F.06

OTKAOHSIOLLLOS
ABYXPOAMKOBOS
oarapes NopyyHA
AEBQS

The rejecting two-roller
battery of a hand-ralil
left

F.07

KpoHLTENH C
OMOPHbIM POAMKOM
MpaBbIM

Arm with a basic roller
right

F.08

KpoHLTENH C
OMOPHbIM POAMKOM
AEBbIM

Arm with a basic roller
left

F.09

LLeHTpumpytoLLLMm
POAMK MOPYHHA
MpaBbIM

Aligning roller of a
hand-rail right

F.10

LleHTpumpytoLLLmm
POAUK MOPYYHA AEBbIM

Aligning roller of a
hand-rall left

F.11

OTKAOHSIOLLLQS
POAMKOBAS Batapes
MOPYYHS AEBQS

13



P-JSC "LATRES"

F.12

OTKAOHSIOLLLAS
POAMKOBQOS BaTapes
MOPYYHS NPABAS

F.13

OTKAOHSIIOLLAS U
HATS>KHAS POAMKOBQAS
Garapes Nopy4H4
AEBQAS

F.14

OTKAOHSIOLLLAS M
HATAKHASA POAMKOBAS
Barapes Nopy4H4
npaBas

F.15

Tara HATS>KHOM
POAMKOBOM BaTapem
Draft of the tension
roller battery

F.16

YTrOAOK HOTSKHOTO
YCTPOMCTBA MOPYYHS

Corner of the tension
device of a hand-rall

F.17

OCHOBOHME HATIHKHOM
POAMKOBOM BaTapem

The basis of the
tension roller battery

E.18

Sugniagaiednjanijy
i

Lenb npmBoAQ
MOopPYy4YHEBOTO
YCTPOMCTBA

Circuit of a drive of
the device of a hand-
rail

14



P-JSC "LATRES"

F.19

KpOHLLITEMH LLemm
MPUBOAQ MOPYHHA

Arm of a circuit of a
drive of a hand-rail

E.20

OrpaxaeHue uenm
MOPY4YHEBOTO
YCTPOMCTBA

Protection of a circuit
of the device of a
hand-rall

E.21

OrpaxkaeHme uenm
NMOPY4YHEBOTO
YCTPOMCTBA

Protection of a circuit
of the device of a
hand-rall

F.22

Y3eA KpenaeHus
OTPOXKAEHMUS LLernu
MPMBOAQ MOPY4YH

Unit of fastening of a
protection of a circuit
of a drive of a hand-
rail

F.23

MNAQHKO KpeNAEHMS
OTPOXKAEHMUS LLernu

Planck of fastening of
a protection of a
circuit

F.24

MNAQHKA Y3AQ
KpenAeHus

Planck of unit of
fastening

15



P-JSC "LATRES"

F.25

MEMKMMHOS
POAMKOBQOS BaTapes
NOPY4HS

The clamping roller
battery of a hand-rall

F.26

MNAQHKQ Lenm
MPWXMMHOIM BaTtapemn

Planck of a circuit of
the clamping battery

F.27

YTOAOK KPEMAEHMS
POAMKOBOW OaTapem
NopPYy4HS

Corner of fastening of
the roller battery of a
hand-rail

F.28

OCb POAMKOBOM LLEMM

Axis of a roller circuit

F.29

YCTpOMCTBO
HATHKEHMS POAMKOBOM
Oatapen NopPyHHS

The device of a
tension of the roller
battery of a hand-ralil

F.30

LUeHTpupytoLLas
CcKOBA NPUXKMMHOM
POAMKOBOM BaTapem
MOPYYHS

Aligning rod of the
clamping roller battery
of a hand-rail

F.31

OCHOBAOHME CKOOBI

The basis

16



P-JSC "LATRES"

F.32

PoankoBag 6aTtapes
MOPY4HS TOAOBHOTO
y4aCTKA

The roller battery of a
hand-rail of a head
site

F.33

HanpaeAgoLLLMM
MPOJOUAL TOAOBHOTO
y4aCTKA

Directing structure of a
head site

F.34

YTOAOK KPEMAEHMUS
FOAOBHOrO y4QCTKQ
MpPaBbIM

Corner of fastening of
a head site right

F.35

YTOAOK KpEMNAEHMUS
FOAOBHOIO y4QCTKC
AEBbIM

Corner of fastening of
a head site left

F.36

KpoHLLTEMH
KpENAEHUS MPOCOUAS
FTOAOBHOTO Y4OCTKQ

Arm of fastening of a
structure of a head
site

F.37

YTOAOK KpENAEHMUS
MPOJOUAT TOAOBHOTO
Y4QCTKQ AEBbIM

Corner of fastening of
a structure of a head
site left

17



P-JSC "LATRES"

F.38

YTOAOK KpEeNAEHMUS
MPOJOUAT TOAOBHOTO
Y4QCTKQ MPABbIM

Corner of fastening of
a structure of a head
site right

F.39

Kpto4oK pOAMKOBOM
©atapem roAOBHOTO
y4aCTKA

Hook of the roller
battery of a head site

F.40

MNAQHKQO KpENAEHMA
KPIOYKA POAMKOBOM
©ataper TOAOBHOTO
y4aCcTKa

Planck of fastening of
a hook of the roller
battery of a head site

18



P-JSC "LATRES"

G. BAJNIIOCTPALA
G. BALUSTRADE

G.01

NPoOMUAb KPEMAEHMS
CTEKAC

Structure of fastening
of glass direct

G.02

HanpasAgtoLLLmM
MPOJOUAbL KPEMAEHMS
CTEKAQ BEPXHETO
KPUBOAMHEMHOIO
YHOCTKAO NPOBbLIN

Directing structure of
fastening of glass of
the top curvilinear site
right

G.03

HampaBAgOLLLMM
MPOJOUAbL KPEMAEHMS
CTEKAQ BEPXHETO
KPUBOAMHEMHOTO
Y4QCTKQ AEBbIM

Directing structure of
fastening of glass of
the top curvilinear site
left

G.04

HanpasAgtoLLLMM
MPOJOUAbL KPEMAEHMUS
CTEKAQ HMXKHETO
KPUBOAMHEMHOTO
YHOCTKA NPABbIM

Directing structure of
fastening of glass of
the bottom curvilinear
site right

G.05

HanpasAgtoLLLmM
MPOJOUAbL KPEMAEHMS
CTEKAQ HMXKHETO
KPUBOAMHEMHOTO
Y4QCTKQ AEBbIM

Directing structure of
fastening of glass of
the bottom curvilinear
site left

19



P-JSC "LATRES"

G.06

KpOoHLLITEMH
KPEMAEHMSA
CTEKOABHOIO NPOdOUAS
AEBbIM

Arm of fastening of a
glass structure left

G.07

KpOoHLLITEMH
KPEMAEHMSA
CTEKOABHOIO NPOdOUAS
MPQOBbIM

Arm of fastening of a
glass structure right

G.08

KpoHLLTEMH
KpenAeHms
CTEKOABHOIO MPOdOUAL
AEBbIM

Arm of fastening of a
glass structure left

G.09

KpOoHLLITEMH
KPEMAEHMS
CTEKOABHOIO NPOdOUAL
MPCOBbIM

Arm of fastening of a
glass structure right

G.10

G.11

CT1EeKOAbHOS
MPOKAQAKQ

Glass lining

ObpamaeHme

Frame

G.12

MNMAMHTYC BEPXHETO
KPMBOAMHEMHOTO
Y4QCTKQ NPABbIM

Plinth of the top
curvilinear site right

20



P-JSC "LATRES"

G.13

MNMAUHTYC BEPXHETO
KPUBOAMHEMHOTO
Y4QCTKQ AEBbIM

Plinth of the top
curvilinear site left

G.14

lNaHeAb BEPXHETO
KPUBOAMHEMHOTO
Y4OCTKA NPOaBAs

The panel of the top
curvilinear site right

G.15

lNaHeAb BEpPXHETO
KPUBOAMHEMHOTO
YHOCTKO AEBOS

The panel of the top
curvilinear site left

G.16

[MaHeAb HUXKHEro
KPUBOAMHEMHOTO
Y4ACTKA NpABAs

The panel of the
bottom curvilinear site
right

G.17

[MaHEeAb HUXXHEro
KPUBOAMHEMHOTO
Y4ACTKO AEBAS

The panel of the
bottom curvilinear site
left

G.18

MAUHTYC HUXKHETO
KPUBOAMHEMHOTO
Y4OCTKA NPABbIM

Plinth of the bottom
curvilinear site right

G.19

MAUHTYC HUXKHETO
KPUBOAMHEMHOTO
YHOCTKA NPABbIN

Plinth of the bottom
curvilinear site right

21



P-JSC "LATRES"

G.20

NaHeAb
MPAMOAMHEMNHOTO
y4aCTKA

The panel of a
rectilinear site

G.21

MAMHTYC
MPAMOAMHEMNHOTO
y4aCTKA

Plinth of a rectilinear
site

G.22

YNOPHbIM YTOAOK
NaHeAu

Persistent corner of the
panel

G.23

KpOHLLITEMH
KPEMAEHUS YMOPHOro
YrOAKQ

Arm of fastening of a
persistent corner

G.24

MNpsmor bapTyk
AEBbIM

Direct apron left

G.25

MNpsmor bapTyk
MPQOBbIM

Direct apron right

G.26

PAPTYK HATIHKHOM
30HbI AEBbIN

Apron of a tension
zone left

22



P-JSC "LATRES"

G.27

PAPTYK HATIHKHOM
30HbI MPABbIN

Apron of a tension
zone right

G.28

PAPTYK FOAOBHOTO
Y4QCTKQO MPUBOAHOM
30HbI MPABbIN

Apron of a head site
of a zone of a drive
right

G.29

PAPTYK FOAOBHOTO
Y4QCTKA MPOUBOAHOM
30Hbl AEBbIN

Apron of a head site
of a zone of a drive
left

G.30

PAPTYK MPMBOAHOM
30HbI MPABbIN

Apron of a zone of a
drive right

G.31

PAPTYK MPMBOAHOM
30Hbl AEBbIM

Apron of a zone of a
drive left

G.32

YTOAOK KpENAEHMUS
dOApPTYKCQ NPABbIM

Corner of fastening of
an apron right

23



P-JSC "LATRES"

G.33

YTOAOK KpENAEHMUS
DAPTYKA AEBbIM

Corner of fastening of
an apron left

G.34

KpOoHLLITEMH
KPEMAEHUS TOAOBHOTO

doapTyka

Arm of fastening of a
head apron

G.35

KpoHLLITEMH
KpenAenus doapTyka
MPCOBbIN

Arm of fastening of an
apron right

G.36

KpoHLLTEMH
KpenAeHus doapTyka
AEBbIM

Arm of fastening of an
apron left

G.37

YTOAOK KpEeNAEHMUS
DOAPTYKO AEBbIM

Corner of fastening of
an apron left

G.38

YTOAOK KpEeNAEHMUS
dOapPTYKCQ NPABLIM

Corner of fastening of
an apron right

G.39

KpoHLLTEMH
KpenAeHus doapTyka
MPQOBbIM

Arm of fastening of an
apron right

24



P-JSC "LATRES"

G.40

KpoHLLTEMH
KpenAeHus doapTyka
MAEBbIM

KpOoHLLITEMH
KpenAeHus doapTyka
MAEBbIM

G.41

OnOPHbIN KPOHLLITEMH

Basic arm

G.42

MNAQHKQ KPOHLLITEMHA
KpenAeHus doapTyka

Planck of an arm of
fastening of an apron

G.43

KpoHLLTENH dhapTyKa

Arm of an apron

G.44

YTOAOK KPOHLLTEMHA
KPEMAEHUS CTEKAC

Corner of an arm of
fastening of glass

G.45

KoOHLLITEMH YCTbS
MOPYYHS MPOBbIM

Arm of a mouth of a
hand-rail right

25



P-JSC "LATRES"

G.46

KpOHLLITEMH YCTbS
MOPYYHS AEBbIN

Arm of a mouth of a
hand-rail left

G.47

YCTbe NOpYy4HI AEBOE

Mouth of a hand-rail
left

G.48

YCTbe Nopy4Hs
npasoe

Mouth of a hand-rail
right

G.49

YTOAOK KpEMAEHMUS
YCTbsl MOPYYHA

Corner of fastening of
a mouth of a hand-rail

G.50

Pe3nHoBas maHxeTta
YCTbs MOPYYHS

Rubber cuff of a
mouth of a hand-rail

G.51

BKAQAbBILL KpENAEHMA
MAMHTYCQ

The loose leaf of
fastening of a plinth

26



P-JSC "LATRES"

H. BNIOKUPOBOYHbIE YCTPOUCTBA

H. BLOCKING DEVICES

H.01

BAOKMPOBOYHOE
YCTPOMCTBO CTYMEHMU

The blocking device of
astep

H.02

MNAQHKQ BAOKMPOBKM
HATKHOTO
YCTPOMCTBA

Planck of blocking of
the tension device

H.03

YNop LLTOKO BXOAHOM
MAOLLLOAKM MPABbIM

Emphasis of a rod of
an entrance platform
right

H.04

YNop LLTOKQO BXOAHOM
MAOLLLOAKM AEBBIM

Emphasis of a rod of
an entrance platform
left

H.05

LLITOHra ©GAOKMPOBKM
BXOAHOWM MAOLLLOAKM

Bar of blocking of an
entrance platform

H.06

MNEY>XMHO BAOKMPOBKM
BXOAHOWM MAOLLLOAKM

Spring of blocking of
an entrance platform

27



P-JSC "LATRES"

I. KOMMNEKTbI
I. COMPLETE SETS

1.01

BAOK HOMPABASOLLIMX
HOT>KHOM U
MPUBOAHOM 30H

The block directing
tension and motor
zones

1.02

Onopa rAaBHOrO BOAC
AEBQAS

Support of the main
shaft left

1.03

Onopa rAaBHOro BAAQ
npaBas

Support of the main
shaft right

1.04

LLamnba kpenAeHus
FTACBHOTIO BOAQ

Washer of fastening of
the main shaft

.05

KOMMAEKT CUCTEMBbI
CMO3KM

The complete set of
system of greasing

1.06

MoACBETKQA CTyneHem
(3eAeHas)

lllumination of steps
(green)

28



P-JSC "LATRES"

J. MPOYME Y3I1bl U AETAJIN

J.01

J. OTHER UNITS AND DETAILS

NopyyeHsb

Hand-ralil

J.02

CTekno dbacoHHOE
HUKHEe

Glass shaped bottom

J.03

CTEKAO OACOHHOE
BEepxHee

Glass shaped top

J.04

CTekao npsmoe
CTAHAQPTHOE

Glass direct standard

J.05

CTekao npsmoe
HECTAHAQPTHOE

Glass direct non-
standard

J.06

Pe3nHOBAs MPOKAQAKQ
OMOpPbl 3CKAAATOPA

Rubber lining of a
support of the
escalator

J.07

MeTaaAamyeckas
MPOKAGAKQO OMOPbI
3CKAAQTOPA

Metal lining of a
support of the
escalator

29



P-JSC "LATRES"

J.08

TeHt

Awning

J.09

YTOAOK KpEeNAEHMUS
OAOKQ HOMPOABASIOLLIMX
MPUBOAHOM 30HbI

Corner of fastening of
the block directing of
drive zone

J.10

YTOAOK KpEernAEHMUs
OAOKQ HOMPOBAAOLLIMX
HAT>KHOM 30HbI

Corner of fastening of
the block directing
tension zones

J.11

OrpoxaeHne

Protection

J.12

Onopa orpa>KAEHUS

Support of a
protection

J.13

MNAQHKO KpeNAEHMA
OrPAXAEHM

Planck of fastening of
a protection

J.14

YTOAOK KpEMNAEHMUS
MACAOMNPOBOAC

Corner of fastening of
system of greasing

30



P-JSC "LATRES"

K. KPENEXHbIE OETAIA
K. FIXING DETAILS

BoAT
K01 Bolt
K.01-01 M6x20
K.01-02 M8x25
K.01-03 M8x30
K.01-04 M10x25
K.01-05 M10x30
K.01-06 M10x35
K.01-07 M12x30
K.01-08 M12x35
K.01-08 M12x50
K.01-08 M12x110
K.01-08 M12x130
K.01-08 M16x60
K.01-08 M20x50
K.01-08 M20x75
BoAT
K.02 Bolt
K02-01 M8x30
BUHT
The screw
K.03
K.03-01 M4x25
K.03-02 M5x20
BUHT
K.04 The screw
K.04-01 M5x8
K.04-02 M8x16

31



P-JSC "LATRES"

ramka
K.05 Nut
K.05-01 M4
K.05-02 M5
K.05-03 M6
K.05-04 M8
K.05-05 M10
K.05-06 M12
K.05-07 M16
K.05-08 M20
= LLamnba npy>XMHHAS
K.06 Washer spring
K.06-01 4
K.06-02 5
K.06-03 6
K.06-04 8
K.06-05 10
K.06-06 12
K.06-07 16
K.06-08 20
. Lanba
K.07 Washer
K.07-01 4
K.07-02 5
K.07-03 6
K.07-04 8
K.07-05 10
K.07-06 12
K.07-07 16
K.07-08 20
BOAT KpenAeHus
DaAPTYKOB
K.08

Bolt of fastening of
aprons

32



P-JSC "LATRES"

L. METAJIJTIOKOHCTPYKUUA
L. METAL DESIGN

L.01

KomnAekT ©OKOBbIX
4ACTEM BCKAAATOPC

The complete set of
lateral parts of the
escalator

L.02

Onopa KPOHLUTEMHA
HAMPABASIOLLMX

Support of an arm
directing

L.03

BoObILLKCT

Lug

L.04

NonepeyrHa cpeAaHss

Cross-beam average

L.05

LLiBeanep
MPOJOMAbHbIN

Channel profile

L.06

YroAok

Corner

L.07

KpOHLLITEMH Y3AQ
cTpona

Arm of unit of a sling

33



P-JSC "LATRES"

L.08

MNAQHKQ Y3AQ CTPOMNA

Planck of unit of a
sling

L.09

NaaeL y3aa cTpona

Finger of unit of a sling

L.09

HecyLumi LLBeAAep
MPUBOAHOM 30HbI

Bearing channel
motor zones

L.10

MeTaaAm4eckme AUCTbI
(AHMLLLQ)

Metal sheets
(bottoms)

L.11

YroAok

Corner

L.12

Onopa
HAMPABASIOLLMX
HOATHKHOTO
YCTPOMCTBA

Support directing
tension devices

L.13

HIKHA monepeYmHa
(AHMLLLQ)

The bottom cross-
beam (bottoms)

34



P-JSC "LATRES"

L.14

KoMMAEKT KpenexxHbIX
AETOAEN AAS CTbIKO
4ACTEM BCKAAATOPC

The complete set of
fixing details for a joint
of parts of the
escalator

L.15

HKHAS monepeYrHa

The bottom cross-
beam

L.16

MAQHKQO HMKHEM
nonepeymHbl

Planck of the bottom
cross-beam

L.17

MAaHKQ

Planck

L.18

MAaHKO

Planck

35



